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QUESTION NO: 1 
 

How many spare line modules are supported for each redundancy group?
 

A. 1

B. 3

C. 2

D. 5
 

Answer: A

 

 

QUESTION NO: 2 
 

When using a 40 Gbps switch fabric, how much full duplex bandwidth is available to each slot?
 

A. 2.55 Gbps

B. 1.25 Gbps

C. 5.00 Gbps

D. 1.65 Gbps
 

Answer: B

 

 

QUESTION NO: 3 
 

Which configuration command enables the router for SNMP?
 

A. snmp-client

B. snmp-server

C. snmp-server enable

D. snmp-client enable
 

Answer: B

 

 

QUESTION NO: 4 
 

Which command parameter configures a password of connection-to-lac for an L2TP tunnel on an

LNS?
 

A. l2tp password connection-to-lac

B. server password connection-to-lac

C. tunnel password connection-to-lac

D. local password connection-to-lac
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Answer: C

 

 

QUESTION NO: 5 
 

In a Routed 1483 network what method of routing is typically employed on the DSL router?
 

A. static

B. RIPv1

C. OSPF

D. RIPv2
 

Answer: A

 

 

QUESTION NO: 6 
 

Where does the LAC obtain the L2TP tunnel's attributes?
 

A. L2TP tunnel map

B. DHCP server

C. domain map

D. profile
 

Answer: C

 

 

QUESTION NO: 7 
 

What L2TP protocol packet is sent by the LAC to establish the control connection (tunnel)?
 

A. L2TP Control Connection Request

B. L2TP Tunnel Establishment Request

C. Start Control Connection Request

D. Start Tunnel Discovery Request
 

Answer: C

 

 

QUESTION NO: 8 
 

Beginning with software version 4-0-0.rel, how many virtual routers can be configured on the ERX

Edge Router?
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A. 1000

B. 256

C. 128

D. 32
 

Answer: A

 

 

QUESTION NO: 9 
 

What are the two negotiation stages defined for the Point to Point Protocol (PPP)? (Choose two).
 

A. LCP

B. IPX

C. IP

D. NCP
 

Answer: A,D

 

 

QUESTION NO: 10 
 

Which action in a policy list assigns a unique packet flow to a QoS service?
 

A. forward

B. mark

C. filter

D. traffic-class
 

Answer: D

 

 

QUESTION NO: 11 
 

What is the function of L2TP?
 

A. It allows L2F tunnels across the network.

B. It allows GRE tunnels across the network.

C. It allows PPTP tunnels across the network.

D. It allows PPP to be tunneled across a network.
 

Answer: D
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